3

2025 4% i & u

ilp =

ik 3 LX)

B BFRE e ulsE P A | e dic =
101 § &+ % [bhfk Epk 3 2
102 75w (604 2 A 2
103|08:30 |7 & %= (65 e pt 3 3
104 T 1
105 § &+ % |THhk B pb 3 1
106 25w 24K LT B 1
107 4 3 (4054 Bk 2
108 10:30 |~ 3 %= |4bpk gt 3 2
109 4 3 |50k Bt 1
110 4 3 [Hhfk Bt 1
111 § 3 e 404 B ek T
112 08:00 |9 3 %= |45 ‘e Btk 8
113 § & o [50k ek D
114 § 3 |24k 01T e gk 6
TH NN EER T 3
116 LE § & = |30 ik 2
117 § & |35k ik 6
118 § & i |bHfk ik 2
119 § & = |60 gtk 3
120 11:00 |9 3 %= |65k ‘o Btk 2
121 § & = |70 ik 3
122 § & B |THfk ik 3
123 7 3+ = (50 e 47k (6Kg) 4
124 § & |60 = 4.3k (5Kg) 4
1251 09:30 | & % |65 s 4.2k (bKg) 1
126 § 3+ o |T04& 242k (4Kg) 3
127 7 3 & |THk fe -3k (4Kg) 2
128 4 3 e (248 T e anTk (4Kg) 3
129 4 3 e |30k 1 T e 4Tk (4Kg) 1
130 % 5w |35& T w4k (4Ke) 1
131 10:30 |~ 3 %= |40 %= 4.2k (4Kg) |
132 2 5w |45k w47k (4K) 1
133 - 3 604 4.3k (3Kg) |
134 + 3 W |6hk 4.3k (3Kg) |
135 § &+ i |50k =48 44 (1. bKg) D
136 § & o |bhjk 4B 4A (1. DKg) 2
137 1g.00 1222 |60 ‘e i & (1Kg) 4
138 ' § 3+ ' |6bk 4844 (1Kg) |

1




139 5 &+ & |70 24844 (1Kg) 4

140 § & w8 |75k mas4A (1Kg) 2

141 4 3 (24 11T 44 (1K) 1

142 + 3 o |30k w44 (1Kg) 1

1431 09:20 |~ 3 ‘e (45 w44 (1Kg) 2

144 - 3 o |60 44 (1Kg) 1

145 ~ 3 e |65k 44 (1K) 1

146 § & |24k 1T ek AR (2Kg) 8

147 § 3+ & (257 e 44 (2Kg) 3

1481 10:00 | ¥ 3 ‘e (35 w444 (2Kg) 1

149 5 & & |40 % 2as 44 (2Kg) 3

150 § & i |45 m B4R (2Kg) 4

151 § & = |70% =4zt (4Kg) 2

152 g 3 e |7hfk esazk (4Kg) 1

153 | 11:20 |~ 3 ‘e (454 r4azk (4Kg) 2

154 - 3 o |60 w4azk (3Kg) 1

155 ~ 3 e |65k 4azk (3Kg) 1

156 § & |35 ®5000= & #HA_ 1 15
157 § &+ & |40 25000 & F4_ 1 255
158 § & i |45 25000 & #EA_ 1 35
159 5 & % (50 25000 = F4_ 2 4. 5%
160 § & i |55k ®5000= & FHA_ 1 652
161 | 08:00 [§ + 2 |60 £5000= & ##4_ 1 THL
162 § & ® |65 25000 & FEA_ 4 8~11%%
163 § &+ & |70 25000 & #4_ 1 125
164 § & w2 |75 25000 & #4_ 3 13~15%
165 4 3 4 |30 25000 % HA 1 1652
166 4 3 2 404 250002 ® FA_ 1 175
167 4 3 e |24 11T = ]500 2 | 1 150
168 09:00 4 3 4 |45 &1500 2 ® 1 2%
169 [ 3 e 55 1500 8 1 35
170 4 3 4 |70 215002 © 1 455
171 § &+ 2 |60 21500 & 3 1~3%5
172 09:10 § 3 % (6D 21500 2 3 4-6%5
173 ' § &+ w2 |70 21500 = & 3 7-9%
174 § F w2 |75k 21500 & 1 1055
175 § &+ |35 21500 = & 4 1~4%
176 09:95 § F i |45 21500 = & 4 5~8%L
177 ' § & w2 |50f 21500 & | 95
178 § + & |55 1500 & 5 10~14%5
179 § & |24 1T w1500 8 7 1~T5

2




180 ] 09:35 | ¥ & = |25 215002 & 4 8~113%
181 § F o |30 21500 7 2 11.125%
1821 09:45 |* F e |24 T 21002 & 5

1831 09:48 | & = |25 2100 & 5

184 09:51 43 2 30 2100 = 2 3. 4if
185 | F e |35k 100 ] 2 6. Tif
186 09:54 |+ & = |40k =100 & 8

187 S 3 (454 100 ® 3 3.4.5i
188 ] 09:57 |+ + & |50 =100 & 2 6. T:¢
189 - 3 e 55k 100 ® 1 8
190 10:00 |5 F e |24 T 21002 & 14 | 2

191 10:06 |5 &+ & |25 2100 ® 3 1

192 10:03 | ¥ + & |30 =100 & 12 | 2

193] 10:09 |5 &+ & |35 2100 ® 19 | 3

194 [ 10:17 |5 & & 40 21002 & 16 | 2
195]10:23 |§ &+ & |45 2100 ® 12 | 2

196 10:30 | ¥ & & |50 =100 & 8 1
197]10:33 |§ + &= |55 2100 ® 8 1

198 op |3 T e |60 2100 8 2 2.3¢
199 10:36 7+ % [T04& 21002 = 5 : 4-83f
200 10:40 | ¥ + = |65 2100 * 5 1

201 10:44 |5 + &= |T54& 2100 ® 5 1

202 1055 S 3 e (24400 T w4002 ] 2 3. 4if
203 | T e |65 4002 ] 1 bif
204 11:00 |5 + 3= |24 0T 2400 = 8

205 11:05 7+ |25 24002 = 6 2-Tif
206 |8 F e |30 400 7 1 8
207] 11:10 |5 + 3= |35 2400 ® 5

208 11:15 | ¥ + = |40 2400 = 5

209 11:20 § 3 e |45 24002 ® 3 2~4:if
210 ' 5+ 3 504k 2400 ® 4 5~8:f
211 11:25 |5 + %= |55 #2400 ® 7

212 11:30 5+ = 604 24002 4 2~5if
213 |8 T e |65 400 ] 3 6~8:¢
214 11:35 § 3 e |70 24002 ® 3 3~5if
215 | e |ThE 4002 ] 3 6~8:¢
216 & 3 e 454 e dx100 2 R E 4 1 2
217 11:45 § e |24 T EAX100 2 R 4% 4 3 3.4. 5
218 T8 T e |35 100 R 34 1 61
219 § 3 e 404 T EAx100 2 ® 1 T3




3 *1p T=
¥ B |2 w||E 2 A =
501 § & w2 |40 gt 3
502 13:00 |9 & % [45% =@ 3 6
503 § 3w |50k @B 3
504 g e |24 1T w R 2
505 . |9 5 e |25 wpe 2
AR EETD 30 o pt B 1
507 7 3w 354 e gt 6
508 4 3 e (24 1T e peid 2
509 L 3 w |35k gt 1
510| 15,00 [P |40/ it 3
511 777 | % 3 o |45 w g 2
512 L 3 e |50 & i 1
513 L 3w |55k & pid 1
514 § 3 e |24k T w2 T ik 9
515 § 3 e |25k 2 T Hpid 3
516 14:20 |3 5 &2 [30%& &= % 7 # B 2
517 § 3 e |35k T Hpid 2
518 73 e A0k e 2 T Hpid 3
519 73w |4bk e 2 T HEid 4
520 73w |50k e 2T HEd 5
521 73w |hhAk e 2T Hpid 2
522 15:30 |§ & & [60% = = 7 # prid 2
523 73w |6hk e 2T HEid 4
524 73 e |T0k e 2.7 % pid 2
525 73 e |Thk e 2.7 HEid 1
526 L3 e 24k T e 2 T i 2
527 L 3 e |25 e BT P 1
528 16:30 |[* 3 & [50% =+ % 7 # pri 1
529 4 3 o |55k e T T B 1
530 L 3w |65k B T T WP 1
531 13-90 F 3 ‘e |24 0T e ik (7. 26Kg) 7
532 T |9 3 4 |25 wAnTk (7. 26Kg) 6
533 7 3 o |30 e 43k (7. 26Ke) 1
534 | 15 g | F (354 2 g3k (7. 26Ke) 2
535 T |9 3 e |40 s AnTR (7. 26Kg) 3
536 7+ |45 =403 (7. 26Kg) 4
537 7 3 w2 |40 =483 (7. 26Kg) 1
538 7 3 % |45k w483k (7. 26Kg) 4

4




539 | 12:45 | + % |50 = 4éazk (6Kg) 2
540 § & = |60% = aazk (6Kg) 3
541 § 3+ & |65 e 4azk (5Kg) 1
542 4 3 (247 1T e R (600g) 1
543 ~ 3 w8 [30% 24514 (600g) 1
544 | 13:50 [+ 3+ & |40 * 418 (600g) 2
545 ~ 3w (45 2454 (600g) 1
546 + 3 4 |50k 415 (500g) 1
547 § + & |50 2448 (700g) 3
548 7+ % [55% 2114 (700g) 3
549 1. 40 222|604 2 i1 (600g) 1
550 ' § & = |65k 2418 (600g) 2
501 § &+ = |70 2448 (500g) 2
552 § & = |75 2448 (500g) 2
553 § &+ = |35 416 (800g) 3
504 | 15:30 [§ = ‘e |40 24148 (800g) 6
555 § &+ i |45 2416 (800g) 5
556 1640 § & |24 1T iR (800g) 8
507 ' § & = |25 2416 (800g) 7
558 13:00 4 3 4 (304 2100 = B4F (0. 838) 1
559 A S |35 e 1002 ® (0. 838) 1
560 13:05 § F 2 |50 #2100 = B4 (0.914) 1
561 U3 3 e 55K 1002 = e (0.914) ]
562 13:15 § 3 |24 0T w1102 = g 0.991) 3
563 ' § F 2 |25 ®110= = 4% (0.991) 2
564 § F 2 |35 =110 = B4 (0.991) 1
565 | 13:20 [§F & & |40 &2 110 = 4§ (0. 991) 1
566 § F 2 |45% =110 = B4 (0.991) 4
567 13:30 S 3 (24 00T w00’ 2
568 A S |25k e 2002 8 4
569 4 3 e |30k 2200 ® 1
570 | 13:35 |~ & s |35k 2200 = 1
571 4 3 e |40 2200 ® 2
572 4 3 v |45k 8200 = 2
573 | 13:40 |+ & %= |50 2200 = 1
574 4 3 4 |bhk 200 = 1
575 | 13:45 [§F & & |24k 11T 2200 & 14 | 2
576 | 13:55 [F + s |25k 2200 = 4 1
77| 14:00 [§F & 2 |30 2200 = 11 2
78| 14:10 [F + % |35 2200 = 12 | 2
579 | 14:20 [§F & = |40 22002 = 7 1




580 | 14:25 |5 3 %= |45 2200 = 7 1

581 [ 14:30 |5 3 % |50 200 = & 5 1

582 | 14:35 |5 3 = |bHgk 2200 = = 9 2

583 | 14:45 |§ = % |65k 2200 = & 4 1

584 14:50 g = .9_ 70;%&{:&200 2 2 2 | 2. 3@
585 5+ 3 |THpk 22002 = 4 0~8i
H86 1505 g 3 f (244 T w4002 < i (0.914) 2 3. 4:f
587 ' 5 3 e |20 2400 = B (0.914) 2 6. Tif
588 § 3 |30 24002 = B (0.914) 1 3if

589 | 15:10 |§ 3 % |35 22400 = = 1 (0.914) 2 5. 6
590 § 3 |40% 2400 = = B (0.914) 1 8:f

591 15:15 § 3 & |50k 24002 = B (0.838) 1 Aif

592 ' 5 3 = |bhgk 24002 = B (0.838) 2 6. Ti
593 § 3 8 |24 1T w5000 & 3 1.2. 3%
594 § &+ & |25 25000 = & 1 455

595 § 3 % (304 25000 = 2 5. 6. %
596 15:95 5 3 e (40 25000 = 2 7.8%
597 ' § 3 e |45 250002 = 1 955

598 § &+ & |50 25000 & 3 10. 11. 1255
599 § 3 e |55 25000 = 1 1355
600 § 3 2 |60 25000 = & 3 14.15. 165
601 § 3+ 3 |65k 25000 = & 2 1. 255
602 5+ 2 |70 25000 = & 5 3.4.5.6. T5
603 § 3+ 3 |75k 25000 = & 3 8.9. 1055
604 1600 S 3 [24% 00T 50002 = 1 1155
605 [ 3 e (304 E50002 = 2 12. 13%¢
606 ~ 3 % |55 25000 & 1 14%.
607 - 3 ¥ |65k 25000 & 1 1550
608 - 3 2 |70 25000 & 1 16%.
609 16:50 § 3 3 |24 01T B Ax400 2 R F 4 2 3.4
610 ' § 3 |20 T k400 R 4 1 61




